Applying Pythagorean Theorem
1. Instead of walking around the length and width of a rectangular field that is 100 m by  250 m, Alex cuts across it diagonally. 

How long, in metres, is his diagonal path?
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‘Which of the following is closest fo the
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b 35em

55em

d 85cm
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Jackson is buying paint for his wall.
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One litre of paint will cover 9 m?.
How many litres of paint does he need to cover the wall?

Justify your answer.





He also wants to put a trim around the outside of the wall.  How much trim will he need to buy?

If two metres of trim cost $12.00, how much will all the trim cost?

[image: image3.png]A lawn care company charges its
customers based on the size of the lawn.
The company uses the following
schedule.

Areaoflawn | Gost per month
Less than 200 m* 950
Between 200 m?

and 250 m 90
Between 250 m?

and 300 m? 70

Over 300 m? 380

The company is caring for Denton’s
lawn, which has the dimensions shown.
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How nmuch should Denton be paying
per month?

A s50
B $60
c $70
D 80
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What is the total area of the figure?

a 150 cm?
b 145m?
¢ 140 em?

d  125cm?




1. a) Determine the length of the fence required to connect both edges of the building.
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b) If the fencing costs $7 per foot, determine the cost of the fence?

2. a) Determine the amount of paint needed to paint the yield sign if the height of the sign is 45 cm and the width is 30cm.
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b) What is the total cost of the paint if it costs $0.25/cm2.

3. Determine the amount of black tape needed to go around the sign.
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